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2020
For each of the following vectors, find ...
... component form, sum of unit vectors form, sketch in standard position, magnitude, and direction.
1. PointSisat(-3,-2) and Tis at (5, —7). Find ﬁ < 15 = =4 ; 7~ {““?} >
a. component form c. sketch in standard position d. magnitude e. direction
\/ 2 (nearest hundredth) (nearest hundredth)
C % — O N L. /) mﬁf‘m
| KT | {dres 0t (2)-32.00°
b. sum of unit vectors 8 = Al > |
o7 4 | = g“’?_ 8= %6027, eg"“ '
— . - | /] ¥
1 QT - ""i-“f;}] - 223,94 °
2. PointFis at (=5, 2) and G is at (-8, 15). Find FG . R-Z5),15-2>
d. magnitude e. direction

a. component form

-%1%

b. sum of unit vectors

-%7 + 157

c. sketch in standard position

(nearest hundredth)

(nearest hundredth)

/ ~l [ 1.
0% gt ( 7})-.

3. Pointlisat(6,-7)and K is at (-9, —11). Find JX .

<-4-6,-1)-(-3) >

a. component form

31, -4

b. sum of unit vectors

C. sketch in standard position

1
-1z

1Y

d. magnitude
(nearest hundredth)

| \)ZZ?H n
\J /4

e. direction
(nearest hundredth}

0% tom” (/ ) 14,62

o > o 2 - T
15T~ Gaor ' =) ?7 2|
4. PointLisat (0, 6) and M is at (2, 2). Find m ('2“@; 1-6 > .
a. component form c. sketch in standard position d. magnitude e. direction
< (nearest hundredth) (nearest hundredth)
2:"“”\7 - \F“i + b= "'E*én {“Z—) b2, lﬁ"
b. sum of unit vectors o
I - ”‘520 b- 77449 b?? %@
1 =) :\ _ \
>.  PointQisat(1.9,-4.7) and Ris at (6.8, -12.3). Find OR . 6. %-].9 ) N2 5 ~(-4,2) >

a. component form

<k8 -7

c. sketch in standard position

b. sum of unit vectors

ltﬁ?m%f

d. magnitude
(near_est hundredth)

e. direction
(nearest hundredth)

5= W*!(-»E:_&) = T4




Find: a)— -21—"& — 5V andb)—31 + 67 for each of the following.
Write your answer in the form of the given vectors.

6. U=<4,-4>andv=<69>

o) —2 S (4~ HY ~5< 0, 4D L) 5{‘4 SRR Y. -
< 2,20 {50 - 45y =|K32,~gp A = < 12)1274<%¢, 472 C6p
/. u=21—3] and v= —1+5]

) <2f%>““‘ 7 4’"“1 L i;>

xf’““ N +L 5,25
: /7 R
= < 1 '2>+ ?“i«> \ ’ q;?l

For the following f' nd the umt vector in the direction of the g given vector.
Use simplified radicals, not decimals.

S W - _
J\V“')“: \jé‘ii‘" 12380 = H)o ]W l% \ )Mt* A% = 717

) (8.-5); 9.4%; 327.99° 2 (B13; 334 10209 3 (—15,-4); 15.52; 194.93°
4) (2,-4); 4.47; 296.57°  5) (4.9,-7.6); 9.04; 302.81°
T v

6) (—32,——43); (24,66) 7) 41 ——-Zz—j, ~12i +39]
o [~Y10 3410 W17 17 1o (Y2 V2

10 ~ 10 17 17 2 2

2+ 2~ -~ - -
11) £z+-————~j 12) --—\/--1-—€-)--z"+3 10] 13) =]




